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Time allowed for the test: 50 minutes
HIBZEFRE - 50 938

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

o k~ N

You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note: AR
Not all diagrams are drawn to scale. AR A AR &
SECTION A (60 marks) ¥ (60 A
Choose the correct answer. You only need to FN e E R - B4 NP HE AR
write down the letter preceding the selected EHhE e FH o
ansSwer.
1. The total collection of a library is 1. 3B A5 g Ik iTNED
4 500 000 books when corrected to L @i % 4500000 &~ > 12 % B~
the nearest hundred thousand and ITWETE > 5 4550000 & o
4 550 000 books when corrected to T AR - B HV N A B
the nearest ten thousand. Which of e e ?
the following could be the possible
total collection of the library?
A. 4543 000 A. 4543 000
B. 4 546 000 B. 4 546 000
C. 4553 000 C. 4553 000
D. 4 556 000 D. 4 556 000
2. The price of a notebook is $32. One 2. - AE e n% £832 T S
extra free notebook will be given AEERHIER - A o U e F LT
when buying 5 notebooks. Miss 25 A E e o WEB RS
Chan needs to buy 25 notebooks,
how much should she pay at least?
A. $640 . $640
B. $672 . $672
C. $768 C.$768
D. $800 . $800




3. All factors of H are:
1,3,13,H
Which of the following is not a
multiple of H?

A.52
B. 78
C. 117
D. 156

3. H i FlicE
1~3~13-H
TR A B_H e e ?

A.52
B. 78
C. 117
D. 156

4. 6,8,9 are used to form the smallest
3-digit number which is a multiple
of 8. Each number should not be
used repeatedly. What is the H.C.F.
of that 3-digit number and 96?

A. 12
B. 28
C. 32
D. 96

4. * 689 - BE |z >
fic> P kA 8 s & Bk
FAFEART 0 %2 e 96

s HCFE % "~ ?

A. 12
B. 28
C. 32
D. 96




5. The above figure is formed by 2
regular hexagons of the same size.
What fraction of the whole figure is
shaded?

oowo»
I g Sl D1
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5. P RIEd 2B Apleehl » i
Al d o LAV (B Bl A

259

W= o Gl I

D.

1
6. There are 23§kg of apples in the
1
fruit shop. The peaches are 5§kg

heavier than the apples. What is the
total weight of apples and peaches

in the fruit shop?

1
A. 348kg

5

B. 383kg

3

C. 503kg

3

D. SIZkg

I
6. ok % 3} % 23gkg o FI R

1
% Sykg o k& B S e e

5509

A. 345kg
B. 382kg
C. 50gkg

D. 517kg




3 . 3 )
7. A roll of ribbon is 18§m long. 7. - Eud & 18§m I
After half of it is used, how much is 1.5 IR
left?
A 82 2
- 83m A. 8§m
B.9 3
71om B. 910m
2 2
C. 9§m C. 9§m
D 101 |
- 105m D. 10§m
2, <foilis moured 2 .
8. 25L of milk is poured into glasses 8. 7 £ 2§L BV KEL

3
of capacity of 1_OL each. How many

glasses can be filled?

A7
B. 8
C.9
D. 10

A7
B.8
C.9
D. 10

9. The weight of a baby is 3.25kg, and
the nurse wrote it as 2.35kg by
mistake. What is the difference in

value between the two 3’°s?

A.0.27
B. 0.7
C. 13
D.2.7

9. B g€ ¥ 325kg EL T A
235kg A B '3, (liciEip £ 5
5 ‘?

A.0.27
B. 0.7
C. 13
D.2.7




10. Which of the following has the 10. T 7 [o8— FEnE g < 7
largest value?
A.55+5+0.05 A.55+5+0.05
B. 55+5.05+0.05 B. 55+5.05+0.05
C.55+5.05+0.5 C.55+5.05+0.5
D.55+0.54+0.55 D.55+0.5+0.55
11. What is the percentage of the 11. F B30 e ik 2 Bleap &+ 2
shaded part to the whole figure A9
above?
A. 30% A.30%
B.35% B.35%
C.37.5% C.37.5%
D. 60% D. 60%

12. There are 150 students in primary 12. = # %5 150 252 > 44%%_ %

six, 44% of the students are boys. If B2 o ntBArd 5 25%RE
25% of the girls wear glasses, how gt o AP PREEFEG S
many girls do not wear glasses? e

A. 16 A. 16

B. 21 B. 21

C.42 C.42

D. 63 D. 63
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13. If all of the above five plastic sticks
are used together to form a
quadrilateral, which of the
following quadrilaterals can be

formed?

I. rectangle
II. parallelogram

III. trapezium

A.Tand IT only
B. I and III only
C. II and III only

D. I, IT and 11T

13. 4bod% R % b hT EM B4
ko B A T LA T R

£ A7

I £- 3
I *Fw i3
M. #-75

A FE 121
B. £4 12 1III
C. 7% 112 1
D. I~1I % III

14. Car P is 10m to the south of Car Q.
Car R 1s 10m to the east of Car P. In

which direction is Car R from Car
Q?

A. south-east

B. north-east

C. south-west

D. north-west




?cm

15cm

\ 4

15. A rectangular box can hold 24
circular cookies of the same size, as
shown above. This box is 15cm
wide. What is the length of the box?

3
A. 184cm

1
B. 204cm

1
C. 2220m

1

D. 26zcm

15, - BES 2537 £ 24 H A |
Ap e SR A4 5T 0 et WA o

g F B 15ecm> vk 509

A. 185 cm

B. 207cm

C.225cm

D. 265cm

T

(I

16. The above is the net of a cube.
When it is folded into a box, the
face with | op | is at the top. Which
of the following shapes is at the

bottom of the box?

A.|E3
B. | >
C.|=
D. | =

16.

P RIE - B R ARk o

FRUEI LS

HITE R o 27 £ F & IR T oo
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17. Which of the following solids can

be formed by using the above

wooden sticks and plastic balls?

17.

Q0000

om

A ’}is'fr"ﬂ/}ﬁi » ¥ 4R B 1Y
TR~ B/ 2 RE?

[. prism with a quadrilateral . = &4
base I w448
II. pyramid with a I 7 &4
quadrilateral base
II1. pyramid with a pentagonal
base
A.Tonly A 751
B. II only B. 73 II
C. I only C. »3 I
D. II and III only D. v 3 II{-1II
18. The perimeter of a rectangle is 18. & = A5 B &_36cm o 4r¥k £ &
36cm. If its length is 2 times its ERED2E ERHE > a0
width, what is the area of the FAS Y
rectangle?
A. 36cm? A. 36cm?
B. 72cm? B. 72c¢m?
C. 162cm? C. 162cm?
D. 288cm? D. 288cm?

b
e
TD
&
=]
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19. Each of the following figures is

formed by some semi-circles or a

figure of sides 20cm long and semi-

circles together. Which figure below

has the same perimeter as the

circumference of the circle above?

A. @

TACERY EXPIEy Py
£ 20cm B2 e Flie S o on
- B EA % KAt B % 4p
e ?

20. In the above square, what is the
area of the shaded part?

A. 128cm?
B. 96cm?
C. 64cm?

D. 32cm?

8cm

11



Scm Scm

30cm
Scm 30cm
30cm
21. What is the volume of the above |21. * Blef8fF 2 % > ?
figure?
A. 11250cm? A. 11250cm’
B. 12000cm? B. 12000cm’
C. 18000cm? C. 18000cm?
D. 18750cm? D. 18750cm?
— —
300mL 380mL 495mL

22. According to the above figures, what | 22, 1335 + Bl » - B Fli o84 2%
is the volume of one cylinder? S
A. 1lem’ A. 1lem?
B. 35cm? B. 35cm?
C. 45cm? C. 45cm?
D. 66¢cm’ D. 66¢cm’

B AT B (] 6) 12



20cm

______ Lo

20cm
23. Henry filled up a glass with water 23.
and poured the water into the tank.
After he had poured 26 glasses of
water into the tank, the water level
reached 65% of the height of the
tank, as shown in the above figure.

What is the capacity of the glass?

A. 350mL
B. 300mL
C. 250mL
D. 200mL

20cm

| B4 IR BRI de R~
Kot 17 26 57K » -Kdnfs o
Kz 3 Ka B B e 65% 0 4ot

R o A g £ L5 9

A. 350mL
B. 300mL
C. 250mL
D. 200mL

24. When my father went to work, he 24,
took 20 minutes to walk 2km. Then
he ran at 2 times of his walking
speed to finish 750m of the
remaining journey. How long did

he run?

A. 2.5 minutes
B. 2.75 minutes
C. 3.5 minutes

D. 3.75 minutes

o
Ny

I oD rTIpEES B 3 204
577 2km o Ris e 1 Tk
FH D B RAT 750m O

fFogal 5 A9

A.25 bs
B.2.75 » 45
C.3.5 &4
D.3.75 » 4&

b
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Number of Visitors to Sea Park in the First Half Year of 2021
BOER2FE 2021 & P E g A i
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25. According to the above graph, what | 25. 1345+ @] > F L & ¢ B 0k 2
was the difference between the B A B T iaE T N 3 A fidp
smallest number of monthly visitors £ 509
and the average number of monthly

visitors in the first half of the year?

A. 200000 A. 200000
B. 150 000 B. 150 000
C. 100 000 C. 100 000
D. 50 000 D. 50 000

B ATREAH E % () 6) 14



Number of Students Who were late in the Past Five Days
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26. The above graph showed the
number of students who were late
in the past five days. Which day’s
total number of students who were
late was exactly 2 times the total
number of students who were late

on Tuesday?

A. Monday
B. Wednesday
C. Thursday
D. Friday

26.

Boys
m

Girls
44

P RAES T R ERNF A
Hoo VR— X B T A gk LA

#-h2 9

S o w »

5 4y

5 4y
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Sales of Shoes in the Second Half Year of a Shoe Shop
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27. According to the above graph,

which of the following is correct?

A. The average sales of shoes
in the second half year was

400 pairs.

B. The average sales of shoes in
the second half year was

600 pairs.

C. The total sales of shoes in
the second half year was
2500 pairs.

D. The total sales of shoes in
the second half year was
3400 pairs.

27. %Q%j g] s 1] F R — IE {J}Efg’i”‘?

A TEERT AT IOHE L

400 g -

B. TLXEiI T ingE R

600 g -
C. TLXegsdpdls i
2500 g -
D. TEXERFORHE T
3400 g -

BATALAIH B % () 6) 16



Subject Chinese Mathematics English Average Marks
P P2 w5 " T Es
Marks
o 88 ? 96 93
28. The above table shows John’s 28, FEA A S e EANY o Bl
examination results. What was his L RN S A
mark in Mathematics?
A.93 A.93
B. 95 B. 95
C.97 C.97
D. 99 D. 99
29. There were 5 participants in a 29 - BREFEHF S A Fhrodekie
camping activity. If the rental fee Benp t Ay B R g hR A
for hiring car was $y and the rental F A$85 0 FREFE R EE TR Y
fee for tents for each participant g 509
was $85. What was the total cost
for this activity?
A. $(5y+85) A. $(5y+85)
B. $(y+85) B. $(y+85)
C. $5(y+85) C. $5(y+85)
D. $(y+425) D. $(y+425)
30.If 7P =126, then P+ 15="7? 30. 4% TP=126> 7RAE-P+15=7
A. 48 A. 48
B. 45 B. 45
C.33 C.33
D. 28 D. 28

End of Section A

L
BATALAIH B % () 6) 17



SECTION B (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

o % (40 &)
xﬁ;}'ﬁr"’a}j}}] Pkt ¥ RIRESRERE 5
}-IJ":',"\::J—';E"; 'H;'% ©°

31. In Happy Bookstore each atlas was
sold at $65. The following graph
shown the sales of atlases in the

bookstore last week.

31. 23 )E?r%'%m/r B0 & kb Bl &
il 1 -

Sales of Atlases in Happy Bookstore Last Week

Pgd n b s BE s e E

Each stands for 10 books
= £ 10 &

Atlas of Australia
Rl R
Atlas of US
EXER:

Atlas of France

Atlas of China
PR R

(a) According to the above graph,
how much did the Happy
Bookstore get last week by
selling the atlases? (Give the

answer only) [2 marks]

SSGGGN
GOSN

(@) 1995t B G RLY 8
BB R IE R S ?
(FABNER) 2
Av\]

BATALAIH B % () 6) 18



31. (b) Miss Lee bought 100 atlases. If

the bookstore offered a 10%
discount, how much should
Miss Lee pay? (Give the answer
only) [2 marks]

(c) Last week, the bookstore

bought x world atlases. After
donating 150 world atlases to
the social welfare organisation,
20% of the rest were sold. If a
total of 70 world atlases were
sold, how many world atlases
did the bookstore buy last
week? (Use equation to solve
the problem and show your

working steps) [4 marks]

31.(b) 2 EEFRET 7 100 A4 B & o

hek E R E4 ATIRA 0 2 X
AR 2R ARNER)
[2 4~ ]

PR F MR x AR
FRE R 150 A3 ALAR
s > £ 8T 20% -
4o B E 8070 A R B
BoF ey ArmE
ORI
g

) [4 4]

14 % (1 6) 19



4cm

Figure 1
Bl -

32. The plastic sheet in Figure 1 is
formed by one square and four
trapeziums of the same size and
shape. Nancy used this plastic
sheet to fold into the bottle in
Figure 2.

(a) In Figure 1, what is the area of

the plastic sheet?  [4 marks]

(b) In Figure 2, the capacity of the
bottle is 200cm3. If Nancy uses
this kind of bottle to hold

Figure 2
B =

32. Fl- P Ed - BRoAyz e

B4 ek oA e 8 A

$ o FLRAIF 2 B RS

L+ oo

(a) wBl- > B rehm HES 07
[4 ~ ]

(b) LB = > TR hy £ A

200cm? o 4o & 570k * B AL

+ 4 F A 840cm’ g o 4 ke

840cm? of vinegar, how many FEREASCR2(F AR
bottles can be fully filled at Fx)
most? (Give the answer only) [2 & ]
[2 marks]
BATHAH T () 6) 20



33. Amy used 16 equilateral triangles

of the same size to form the shapes
in Figure 1 and Figure 2.

Figure 1
g] -
(a) On the answer sheet, draw all

the lines of symmetry of Figure
1. [2 marks]

(b) If the perimeter of Figure 2 is
24cm shorter than that of Figure
1, what is the perimeter of
Figure 2? (Give the answer
only) [2 marks]

33. 3% 16~ 4pkenEF = &

25w & Fl- & Bl= Ak

\VAVAV

Figure 2

(b) e Fl= e Bl - b
ke 24cm> Bl- % R E S
SORARNEE) [24)

BATALAIH B % () 6) 21



34. Mr Wong planed to have the lunch
buffet with his wife and two sons.
The special offers from Sunny
Restaurant and Delicious

Restaurant were as follows.

34, § A4 BEL I 25 03 3
AIEEE RN ET ) LY
LARERE 3 X

Sunny Restaurant
iy ]

$225 each

Half price will be offered to
the fourth person

& 1»$225
VUL A R

Delicious Restaurant
KRR

$225 each
20% discount will be offered when
using credit card for payment

% 9229
PME HRATER > 8 )\ $r B

(a) If Mr Wong’s family had the
lunch buffet in Sunny
Restaurant, how much should
the four of them pay in total?

[4 marks]

(b) If Mr Wong’s would pay by
credit card , at which restaurant
should they have the lunch
buffet so as to pay less?

Explain. [4 marks]

(a) 4o F A 24 - REM LR R
VR BSE R S e A

g o c? [4 lu\]

(b) do% F A4 Me i *+H
%o W PR - B Rt
) LY AT ‘?;i\‘ﬁi
%§° [4 # ]

BATALAIH B % () 6) 22



35. There are 640 students in a school.

3

? of the students go to school by
2

bus, 3 of the students go to school

by private car, and the remaining

students go to school on foot.

(a) What is the fraction of the
students going to school on foot?

(Give the answer only)
[2 marks]

(b) If there are 288 girls in the
school, what percentage of
students are boys? (Give the

answer only) [2 marks]

(c) Tim's home is 1.8km away from
the school. It took him 25
minutes to walk home yesterday.
What was Tim's average
walking speed? (Give the

answer only) [2 marks]

3

35. FHG H2 640 4 o H P oenE 4
, 2. -

SN S A X7 o

BT LN Y

(a) 7+ BEenF 4 L ik 2R E
Beng AL BO(RERNE
*) [2 4]

(b) -k B4 4§ 288 4 > 9 4
VIS TS X
(FABNES) [2 /]

(c) fFeE FIEHE & 1.8km » pf =
BHEw RS T 2508 FE
W {7 et 3o 25 0 (R AR

g x) [2 ~]

Y

BATALAIH B % () 6) 23



36. The following is the floor plan of the
area around a school.

T EERE T B

Cinema
E-a e
Hosp
i
Sypermarket
i
Schobl Bookstore
8] ER
(a) The Hospital is in the south of (a) %5 B iae ® - ERAR
the School. Which direction is Plavi- 3 2(n g ¥
the School from the Cinema? %) [2
(Give the answer only) A ]
[2 marks]

(b) During a big sale in the
Supermarket, all juice was sold
at ‘Buy 2 and get 1 free’. Ivy
bought 3 bottles of juice. Each
bottle of juice cost $12
originally. By how much was
each bottle of juice cheaper on
average? [4 marks]

(c) Karen and 3 classmates went to
the Cinema to watch a film. The
price is $35.5 per ticket. How
much should they pay total?
(Give the answer only)

[2 marks]

(b) R&7 B _;’E,f:r_"vg\;f%i , t"‘i‘*ﬁ
RAR2E1-2HF 0 34
S b0 REUR I ESI2 T
ﬁi%fl‘@ﬁﬂl ’;Z")? [4A\]

(©) Isiffr 3 =k B FT BT T
B0 T EE & RS$355 i
FH 52 (FABNES)

2 4]

End of Test Paper
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